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QUESTION 1

Consider a customer with multiple environments, Development, Test and Production. Which statement is TRUE? 

A. Each environment must have a C++ compiler. 

B. QualityStage rule sets are not a type of deployable asset. 

C. It is not possible to revert to a previous version of a package. 

D. A package can contain an improved version of a job which will replace the old one. 

Correct Answer: B 

 

QUESTION 2

Which of the following statements about checkpoint/restart is TRUE? 

A. The parallel framework does not support checkpoints inside jobs 

B. You must set the environment variable $APT_DISABLE_COMBINATION to TRUE 

C. To perform checkpoint inside a parallel job, select the checkpoint option in each stage 

D. If the checkpoint/restart is turned on for a sequence job, all components of this sequence job must perform
checkpoint recording 

Correct Answer: A 

 

QUESTION 3

Which stages will require a schema file when runtime column propagation (RCP) is enabled? (Choose two.) 

A. Data Set 

B. Column Import 

C. Internal Source 

D. External Target 

E. Make Subrecord 

Correct Answer: BD 

 

QUESTION 4

Which Connector Stage doesn\\'t support reject Link 
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A. DB2 Connector 

B. ODBC Connector 

C. Oracle Connector 

D. Netezza Connector 

Correct Answer: B 

 

QUESTION 5

For very large records, you may need to set the following environment variable with an appropriate value in order to
allow the job to run successfully: 

A. $APT_MONITOR_SIZE 

B. $APT_RECORD_COUNTS 

C. $APT_DISABLE_COMBINATION 

D. $APT_DEFAULT_TRANSPORT_BLOCK_SIZE 

Correct Answer: D 

 

QUESTION 6

Parallel job column definitions have an SQL type associated with them. Which of the following is TRUE? 

A. Use the SQL type when specifying a schema via a file 

B. The SQL type is what the parallel job data set understands 

C. Use the Parallel tab of the Edit Column Meta Data dialog box to view the SQL type 

D. The SQL type is mapped to an underlying data type that the parallel job data set understands 

Correct Answer: C 

 

QUESTION 7

In order to collect operational metadata, you must do which of the following? 

A. Enable "Generate operational metadata" in the Execution tab of the job properties using the Designer client 

B. Enable "Generate operational metadata" in the General tab of the project properties using the Director client 

C. Enable "Record job performance data" in the General tab of the project properties using the Administrator client 

D. Enable "Generate operational metadata" in the General tab of the Job Run Options dialog box in the Director client 
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Correct Answer: C 

 

QUESTION 8

Your job consists of a DB2 Connector stage followed by a Sort stage followed by a Transformer stage followed by
another DB2 Connector stage. The following two Balanced Optimizer options have been selected: Push processing to
data sources Push processing to data targets The following two Balanced Optimizer options have NOT been selected:
Push data reduction processing to data targets Push all processing into the (target) data server Assuming the job design
allows for maximum optimization, what does the optimized job design look like? 

A. Row Generator stage followed by a DB2 Connector stage 

B. DB2 Connector stage followed by a DB2 Connector stage 

C. DB2 stage followed by a Transformer stage followed by a DB2 Connector stage 

D. DB2 Connector stage followed by a Sort stage followed by a Transformer stage followed by another DB2 Connector
stage 

Correct Answer: A 

 

QUESTION 9

Which of the following is TRUE about Transformer Stage when
$APT_TRANSFORM_COMPILE_OLD_NULL_HANDLING is set? 

A. A Modify Operator is inserted at run time before a Transformer stage to handle null values 

B. If an input column that is used in the derivation expression of an output column contains a null value, then the
resulting output column contains a null. 

C. If an input column that is used in the derivation expression of an output column contains a null value, then that row
will be dropped or, if a reject link had been defined, rejected 

D. If an input column that is used in the derivation expression of an output column contains a null value, then the
resulting output column will be calculated ignoring the Null value. 

Correct Answer: C 

 

QUESTION 10

By default, how much internal memory does the Sort use per partition? 

A. 10MB 

B. 20MB 

C. 25MB 

D. 30MB 
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Correct Answer: B 

 

QUESTION 11

You are experiencing performance issues for a given job. You are assigned the task of understanding what is
happening at run time for that job. 

What steps should you take to understand the job performance issues? (Choose two.) 

A. Use the resource estimation tool 

B. Use the performance analysis tool 

C. Replace Join stages by Lookup stages 

D. Run the job with $APT_TRACE_RUN set to true 

E. Run the job with $APT_DUMP_SCORE set to true 

Correct Answer: BE 

 

QUESTION 12

Which of the following statements about real time job design is TRUE? 

A. DSJobInvocationId is not required for the target sequential file. 

B. A non-Multiple Instance DataStage job can be activated for ISD service. 

C. A DataStage job must have an ISD Input stage, but an ISD Output stage is not required. 

D. The Information Services Director server starts job instances on one or more DataStage servers for load balancing
and scalability. 

Correct Answer: D 

 

QUESTION 13

Which Slowly Changing Dimension (SCD) stage statement is TRUE? 

A. Surrogate keys are used to join a dimension table to a fact table in a normalized schema database 

B. Each SCD stage processes multiple dimensions and performs lookups by using an equality matching 

C. Purpose codes are part of the table metadata that the SCD stage propagates to the dimension insert link. 

D. Actual dimensions changes are applied to the lookup table in memory and are mirrored to the dimension update link 

Correct Answer: B 
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QUESTION 14

The Lookup stage is one of three stages that join records based on the values of key columns. What are the other
stages? (Choose two.) 

A. Join 

B. Merge 

C. Modify 

D. Funnel 

E. Difference 

Correct Answer: AB 

 

QUESTION 15

Which statement about the ISD input stage is NOT TRUE? 

A. A job must have zero or one ISD input stages 

B. A job with an ISD input stage must have an ISD output stage 

C. Buffer size and timeout values can be supplied as job parameters 

D. Text over JMS binding is only available if you are using Network Deployment 

Correct Answer: D 
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